Managerial Accounting
Acct 2301

Chapter 4 Problems

1. Opelika Products Company operates three production departments within a single facility. Each department produces its own products and maintains its own production equipment.  Although they share a common facility, each department is overseen by a separate supervisor.  Which one of the following costs is a direct cost of each department?

a. Lease payment on the facility

b. Depreciation on the facility

c. Plant manager salary

d. Cost of goods sold

e. None of the above

2. The College of Business Administration needs to distribute $12,000 received from an anonymous donor and earmarked for three business student organizations; Accounting Leadership Council (ALC), Finance Association (FA), and Tech Marketing Association (TMA).  Relevant information is provided below:

Possible Cost Driver

ALC

FA
 
TMA
Number of students

90

120

300

Budged expenses


$5,500

$4,000

$ 500

Number of organizations

1

1

1

Assume that each organization wishes to obtain the highest funding possible.  Which cost driver would ALC recommend to use? 

a. Number of students

b. Budgeted expenses

c. Number of organizations

d. A or B,  because they yield the same result

e. B or C , because they yield the same result

3. William Samson Co. produces three products.  The products’ identified costs and production information are as follows:

Product A
Product B
Product C



Direct Materials
$18,000
$12,000
$15,000



Direct Labor

$  6,000
$12,000
$10,000



Units Produced
    4,000
    5,000
    6,000

The company’s overhead costs are $14,000.  The company allocates overhead based on direct labor dollars.  What is the production cost per unit for Product B?

a. $8

b. $7

c. $6

d. $5

e. None of the above

4. Pennington Manufacturing Company uses a cost plus pricing strategy.  At the beginning of January, Pennington estimated that total annual fixed overhead costs would amount to $100,000.  Pennington also estimated that the annual volume of production would be 50,000 units.  Based on these estimates, a predetermined overhead rate was used to allocate overhead cost to the products throughout the year.  At the end of the year, it was found that 50,000 units were actually produced during the year.  However, actual fixed overhead costs amounted to $120,000.  Based on this information alone,

a. Products were overpriced during the year.

b. Products were underpriced during the year.

c. Products were priced accurately.

d. The answer cannot be determined from the information provided

e. None of the above

5. Franchione Company has three departments occupying the following amounts of floor space:

Department A:  15,000 square feet

Department B:  10,000 square feet

Department C:  25,000 square feet

How much depreciation should be allocated to Department C if total depreciation is equal to $200,000?

a. $200,000

b. $  75,000

c. $  50,000

d. $  25,000

e. None of the above - $100,000
6. Boothe Company paid its annual property insurance of $24,000 in February.  The company expects to make 48,000 units during the year.  During February, 4,500 units of product were produced.  Based on the information, how much of the insurance should be allocated to the products produced in February?

a. $2,000

b. $2,250

c. $4,000

d. $9,000

e. None of the above

